@ é }E{ % drei Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
3 3 5 5
1 1 1 3
6 6 6 6473
1 1 3 I 1 3
—_F — X — = —+ — X — =
4 5 2 2 2 5
1 1
40+4+ - = 505+~ =
6 2
2 1 3 2
—— =X == - —20+4=
5 4 4 5
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i@ é }E{ @ drei Briiche, Reihenfolge der Operationen

Name: Datum: Ergebnis:
1.3 7 1+12;3_21_41
3 3 5 15 5 ' 5 5
1x1+1—7 36+ 4 — —42—8
6 6 6 36 ' 5 5
1 1 3 11 1 1 3 4
—_F = X - = — —_F — X — = =
4 5 2 20 2 2 5 5

1 6l 1 1 21 1
A0+4+-=_—"_=10= 5+ 2=""=10=

6 6 6 03 2 2 02
2 1 3 17 2 23 3
- xI=_ Z20+4=(—2)=(—-4=
5 474 80 5 2 C5)=43)
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